1	House BILL NO. 218
2	INTRODUCED BY Clark ele
3	
4	A BILL FOR AN ACT ENTITLED: "AN ACT AMENDING THE LAW RELATING TO ESTABLISHMENT OF
5	INDIVIDUAL LICENSURE TO KEEP AND BEAR ARMS TO REVISE THE REFERENCE TO THE FEDERAL
6	GUN-FREE SCHOOL ZONES ACT; AND AMENDING SECTION 45-8-360, MCA."
7	
8	BE IT ENACTED BY THE LEGISLATURE OF THE STATE OF MONTANA:
9	
10	Section 1. Section 45-8-360, MCA, is amended to read:
11	"45-8-360. Establishment of individual licensure. In consideration that the right to keep and bear
12	arms is protected and reserved to the people in Article II, section 12, of the Montana constitution, a person
13	who has not been convicted of a violent, felony crime and who is lawfully able to own or to possess a
14	firearm under the Montana constitution is considered to be individually licensed and verified by the state
15	of Montana within the meaning of the provisions regarding individual licensure and verification in the federal
16	Gun-Free School Zones Act of 1990 ."
17	-END-



.

•

APPROVED BY COM ON JUDICIARY

1	House BILL NO. 218
2	INTRODUCED BY Clark ele
3	
4	A BILL FOR AN ACT ENTITLED: "AN ACT AMENDING THE LAW RELATING TO ESTABLISHMENT OF
5	INDIVIDUAL LICENSURE TO KEEP AND BEAR ARMS TO REVISE THE REFERENCE TO THE FEDERAL
6	GUN-FREE SCHOOL ZONES ACT; AND AMENDING SECTION 45-8-360, MCA."
7	
8	BE IT ENACTED BY THE LEGISLATURE OF THE STATE OF MONTANA:
9	
10	Section 1. Section 45-8-360, MCA, is amended to read:
11	"45-8-360. Establishment of individual licensure. In consideration that the right to keep and bear
12	arms is protected and reserved to the people in Article II, section 12, of the Montana constitution, a person
13	who has not been convicted of a violent, felony crime and who is lawfully able to own or to possess a
14	firearm under the Montana constitution is considered to be individually licensed and verified by the state
15	of Montana within the meaning of the provisions regarding individual licensure and verification in the federal
16	Gun-Free School Zones Act of 1990 ."
17	-END-

Legislative Services Division

1	House BILL NO. 218
2	INTRODUCED BY Clark ole
3	
4	A BILL FOR AN ACT ENTITLED: "AN ACT AMENDING THE LAW RELATING TO ESTABLISHMENT OF
5	INDIVIDUAL LICENSURE TO KEEP AND BEAR ARMS TO REVISE THE REFERENCE TO THE FEDERAL
6	GUN-FREE SCHOOL ZONES ACT; AND AMENDING SECTION 45-8-360, MCA."
7	
8	BE IT ENACTED BY THE LEGISLATURE OF THE STATE OF MONTANA:
9	
10	Section 1. Section 45-8-360, MCA, is amended to read:
11	"45-8-360. Establishment of individual licensure. In consideration that the right to keep and bear
12	arms is protected and reserved to the people in Article II, section 12, of the Montana constitution, a person
13	who has not been convicted of a violent, felony crime and who is lawfully able to own or to possess a
14	firearm under the Montana constitution is considered to be individually licensed and verified by the state
15	of Montana within the meaning of the provisions regarding individual licensure and verification in the federal
16	Gun-Free School Zones Act ef 1999."
17	-END-

- 1 -

Legislative Services Division .

.

APPROVED BY COM ON JUDICIARY

	Haven put the 218
1	House BILL NO. 218
2	INTRODUCED BY Clark ale
3	
4	A BILL FOR AN ACT ENTITLED: "AN ACT AMENDING THE LAW RELATING TO ESTABLISHMENT OF
5	INDIVIDUAL LICENSURE TO KEEP AND BEAR ARMS TO REVISE THE REFERENCE TO THE FEDERAL
6	GUN-FREE SCHOOL ZONES ACT; AND AMENDING SECTION 45-8-360, MCA."
7	
8	BE IT ENACTED BY THE LEGISLATURE OF THE STATE OF MONTANA:
9	
10	Section 1. Section 45-8-360, MCA, is amended to read:
11	"45-8-360. Establishment of individual licensure. In consideration that the right to keep and bear
12	arms is protected and reserved to the people in Article II, section 12, of the Montana constitution, a person
13	who has not been convicted of a violent, felony crime and who is lawfully able to own or to possess a
14	firearm under the Montana constitution is considered to be individually licensed and verified by the state
15	of Montana within the meaning of the provisions regarding individual licensure and verification in the federal
16	Gun-Free School Zones Act of 1990 ."
17	-END-

- 1 -

~ `

.

.

1	HOUSE BILL NO. 218
2	INTRODUCED BY CLARK, COLE
3	
4	A BILL FOR AN ACT ENTITLED: "AN ACT AMENDING THE LAW RELATING TO ESTABLISHMENT OF
5	INDIVIDUAL LICENSURE TO KEEP AND BEAR ARMS TO REVISE THE REFERENCE TO THE FEDERAL
6	GUN-FREE SCHOOL ZONES ACT; AND AMENDING SECTION 45-8-360, MCA."
7	
8	BE IT ENACTED BY THE LEGISLATURE OF THE STATE OF MONTANA:
9	
10	Section 1. Section 45-8-360, MCA, is amended to read:
11	"45-8-360. Establishment of individual licensure. In consideration that the right to keep and bear
12	arms is protected and reserved to the people in Article II, section 12, of the Montana constitution, a person
13	who has not been convicted of a violent, felony crime and who is lawfully able to own or to possess a
14	firearm under the Montana constitution is considered to be individually licensed and verified by the state
15	of Montana within the meaning of the provisions regarding individual licensure and verification in the federal
16	Gun-Free School Zones Act of 1990 ."
17	-END-